
CALCULASCALCULAS

Vikasana - CET 2012



CALCULASCALCULAS
PART-A

MULTIPLE CHOICE QNSMULTIPLE CHOICE QNS 

Vikasana - CET 2012



1 . . s i n ,I f y x t h e n
d y

=

)

d y
d x

c o s xa

=

)
2 s i n

s i n)
2 s i n

a
x

xb
x2 s i n

)
s i n

x
c o s xc

x
2)

s i n
c o s xd

x

Vikasana - CET 2012



2. . ( ) ( 1)If f x x x x= − +( ) ( )
. '(0)

f f
then f =

)0
)1

a
b)1
) 1

b
c −)

)d Infinity
Vikasana - CET 2012



2 1 13 sin cot
d x−⎡ ⎤+ =⎢ ⎥3. sin cot

1
)0
dx x

=⎢ ⎥−⎣ ⎦
)0
)1/ 2

a
b)1/ 2
) 1/ 2

b
c −

) 1d −

Vikasana - CET 2012



...

4
yey dyIf x e then

∞
+

+

= =4. . .

1)

If x e then
dx

xa

= =

−)

)
1

a
x
xb)

1
1)

x
xc

x

−
+

)
1

x
xd

x+
Vikasana - CET 2012

1 x+



5. . cos sin & cos sin ,If x y then
dy

θ θ θ θ θ θ
π

= + = −

.
2

)

dy at
dx

a

πθ

π

=

)
2

2)

a

b

−

)

)
4

c

π
π
4
4)d
π

Vikasana - CET 2012



2 26. . . .sin . . . .(log )The derivative of x w r t x =
.sin .cos)

log
x x xa

x

2

2sin .cos)
(log )

x xb
x

2

( g )
sin)
2 log

xc
x2log

) .log
x

d x x

Vikasana - CET 2012



( )7 xx dyIf y then⎛ ⎞= =⎜ ⎟( )
1

7. . ,

)1 log2

x

x

If y thenx dx
a

=

= =⎜ ⎟
⎝ ⎠

+)1 log2
)1

a
b

+

) 1
)1 log2

c
d
−
−) g

Vikasana - CET 2012



8. . ( ) . . . .nIf f x x then the valueof=
( )'(1) ''(1) (1)(1) ............. ( 1)

1† 2† †

n
nf f ff

n
− + − + −

)1
is
a)1
) 1
)0

a
b
c
−

)0
)

c
d ∞

Vikasana - CET 2012



2
1

2
cos sin9. . tan , .

ydx xIf y then− −⎛ ⎞= =⎜ ⎟
⎝ ⎠ 2,
cos sin

)0

f y
dxx x

a

⎜ ⎟
+⎝ ⎠

)sin2
)cos

b x
c x)
) cos2d x−

Vikasana - CET 2012



10 A point on the curve at2610.A point on the curve                at 
which the tangent to the curve is 

f

26y x x= −

0included at an angle of       to the
line x+y=0

045

a) (-3,9)    b)(-3,-27)    
c) (3,9) d)(0,0)c)  (3,9)     d)(0,0)

Vikasana - CET 2012



11 In the curve if SN varies2 2 2 2 2( )x y a x a= −11.In the curve                       if SN varies 
inversely as the nth power of the abscissa 
then n is equal to

( )x y a x a

then n is equal to
a)n=2      b)n=3     c)  n=4
d) 1d)n=1

Vikasana - CET 2012



12 The surface area of a sphere when its12. The surface area of a sphere, when its
volume if increasing at the same rate 
as its radius is
a)1     b)              c) 2       d) 41

2 π2 π

Vikasana - CET 2012



13.Tangent is drawn to the ellipse             
2 2

1
27 1
x y

+ =g p
at                       Find the value of       
such that the sum of the intercepts on

27 1
(3 3 cos ,sin )θ θ (0, /2)θ π∈ θ

such that the sum of the intercepts on 
the coordinate axes by the tangent is 
minimumminimum
a)  pi/3         b)  pi/6        c)  pi/8    d) pi/4

/ 3π

Vikasana - CET 2012



4 41 4 . ( s i n c o s )x x d x− =∫
c o s 2)

2
s i n 2

xa c

x

+

s i n 2)
2

s i n 2)

xb c

x

−
+

s)
2

c o s 2)

xc c

xd c

+

+)
2

d c+

Vikasana - CET 2012



2

2 2

2 315. x dx+
∫ 2 2

1

15.
( 1)( 4)

1. log tan . . &
1 2

dx
x x

x xIf I A B then A Bis
x

−

− +
−

= +
+

∫

1 2
) 1,1
)1, 1

x
a
b

+
−
−) ,

1 1) ,
2 2

c

1 1) ,
2 2

d −

Vikasana - CET 2012



/ 2

1 6 .
xa d x =∫

11) s in ( )

x x

x

a a

a a c

−

−

−

+

∫

1

) s in ( )
lo g

1) ta n ( )x

a a c
a

b a c−

+

+) ta n ( )
lo g

) 2

x

x x

b a c
a

c a a c−

+

+) 2
) lo g ( )x x

c a a c
d a a c−

− +

− +

Vikasana - CET 2012



117. dx =∫17.
1 sin cos

) log 1 tan / 2

dx
x x

a x c
+ +
+ +

∫
) g

) log 1 sin cosb x x c+ + +

)2 log 1 tan / 2

1

c x c+ +

1) log 1 tan / 2
2

d x c+ +

Vikasana - CET 2012



3 218 32 (log )x x dx =∫
4 2

18. 32 .(log )

)8 (log )

x x dx

a x x c

=

+
∫

4 2) . 8(log ) 4log 1b x x x c⎡ ⎤− + +⎣ ⎦
⎡ ⎤4 2

3 2

) . 8(log ) 4log

) (log ) 2log

c x x x c

d x x x c

⎡ ⎤− +⎣ ⎦
⎡ ⎤+ +⎣ ⎦) . (log ) 2logd x x x c⎡ ⎤+ +⎣ ⎦

Vikasana - CET 2012



3
1 9 2 d x∫ 0
1 9 . 2

) 5 / 2

d xx

a

=−∫
)
)1 / 2
) / 2

b
) 7 / 2
) 9

c
d )

Vikasana - CET 2012



/ 4

0
20. . tan ,n

nIf I xdx then
π

= ∫0
2lim

) /

n

n n n

f

I I→∞ + =⎡ ⎤+⎣ ⎦

∫

)1/ 2
)1

a
b
)
)0

c
d
∞

Vikasana - CET 2012



21 dxTh l f
π

∫
0

21. . .
5 3cos

) /8

Thevalueof
x
=

+∫
) /8
) /4

a
b
π
π

)0
) /2

c
d) /2d π

Vikasana - CET 2012



222. . . . . . 2 . . . .Theareabetweenthecurves y x x and thex axisis= − −
)8/5
)4/3

a
b)4/3
)5/3

b
c
)7/3d

Vikasana - CET 2012



23. . . . . . .The area enclosed between the curve
log ( ) & . . .

)2
ey x e the coordinate axes is

a
= +

)2
)1
)4

a
b

)4
)3

c
d

Vikasana - CET 2012



sin sin 2 sin3 sin 2 sin3
23 ( ) 3 4sin 3 4sin

x x x x x
If f x x x

+ +
+

/2

23. . ( ) 3 4sin 3 4sin
1 4sin sin 1

If f x x x
x x

π

= +
+

/2

0

. . . . ( )

)3

then the value of f x dx
π

=∫
)3
)2 / 3
)1/ 3

a
b
c)1/ 3

))0
c
d

Vikasana - CET 2012



24. . . . .deg . . . .Theorderand the reeof thedifferential equation
1/3 3

34 .1 3
d ydy are
dxd

⎛ ⎞ =+⎜ ⎟
⎝ ⎠
)(1,2/3)

dxdx
a
⎝ ⎠

)(3,4)
)(3,3)

b
c)( )
)(1,2)d

Vikasana - CET 2012



2

25. . . . . . . . . . .Thedifferential equationof all non vertical linesina planeis
d

−
2

2) 0d ya
dx
d

=

) 0dxb
dy
d

=

2

) 0dyc
dx
d

=

2

2) 0d xd
dy

=

Vikasana - CET 2012



2

2 6 . . . . . .T h e s o l u t i o n o f t h e e q u a t i o n
d y 2

2

2

.

)

x

x

d y e i s y
d x

e

−

−

= =

2

)
4

)
x

a

eb c x d
−

+ +

2
2

)
4

)
4

x

b c x d

ec c x d
−

+ +

+ +

2

)
4

)
4

xed c d
−

+ +

Vikasana - CET 2012
4



CALCULASCALCULAS
PART-B

MULTIPLE CHOICE QNSMULTIPLE CHOICE QNS

Vikasana - CET 2012



101. . ( ) , ( ) sin & ( ) ( ( ))xIf f x e g x x h x f g x−= = =
'( ).
( )

h xthen
h x

=

1) sin
1)

a x

b

−

2
)

1
1)

b
x

c

−

1

2

sin

)
1

) x

c
x

d e
−

−

Vikasana - CET 2012



02 . . s in h ,xIf y e th en=
dy
dx

=

) co sh
) co sh

x

x

a e
b e−)

) co sh
1

x xc e e

2

1)
1

d
y+

Vikasana - CET 2012



1 1/203. . ( ) cot (cos 2 )If f x thenx−= ⎡ ⎤⎣ ⎦

'( )
6
2

f π
=

2)
3
3

a

3)
2

)2 / 3

b

c)2 / 3
)3 / 2

c
d

Vikasana - CET 2012



204 . . log sin , .
2
x dyIf y then

d
= =

2

)2 co t
2

dx
xa
2

) tan
2
xb
2

) co t
2
xc

2) tan
2
xd

Vikasana - CET 2012



1 105. . . .sin . .
1

xThe derivative of w r t x− −⎡ ⎤
⎢ ⎥⎣ ⎦

2

1
1)

1

x

a
x

⎢ ⎥+⎣ ⎦

−
1

2)
1

x

b
x

−
−
+

1)
1

x

c
x

−
−

1)
1

d
x−

Vikasana - CET 2012



2
1 1 3 2loglog( ) ye x d⎡ ⎤ +⎡ ⎤⎢ ⎥1 12

2
2

3 2loglog( )06. . tan tan ,
1 6loglog

x dIf y thenx x dxex

− − +⎡ ⎤⎢ ⎥= + =⎢ ⎥−⎢ ⎥ ⎣ ⎦⎣ ⎦
)1
) 1

a
b −)
)0
) 1/ 2

c
d) 1/ 2d −

Vikasana - CET 2012



( )207 tan 2 11/ 2The gent tothecurvex yat makesan= ( )07. .tan . . . . 2 . . .1,1/ 2
. . .

The gent tothecurvex yat makesan
anglewiththex axis

=

−
0

0

)30
)90

a
b

0

)90
)45

b
c

0)60d

Vikasana - CET 2012



2 2 2 2

08 1& 1x y x yTheCurves cutorthogonally+ = + =08. . . 1& 1. . ,
16 25 16

TheCurves cutorthogonally
a

then a

+ = + =

=,
)6

then a
a
)4
)7

b
c)7
)9

c
d

Vikasana - CET 2012



09. . . . . . int . . .If the subnormal at any po on the curve
. . . . .

)2

ny ax is a constant then n
a

= =
)2
)1
)3 / 2

a
b
)3 / 2
) 2

c
d −

Vikasana - CET 2012



10. . . . . . . . sin . . .Thesidesof anequilateral triangleareincrea g at the
. .2 / sec. . . . . . . . .

. . .10 .
rateof cm Therateat whichtheareais increases when
thesideis cmis

) 3 . / sec
)10 . / sec

a squnits
b squnits

)10 3 . / sec
10

c squnits
10) .
3

d squni / sects

Vikasana - CET 2012



log11 xThe Maximum value of =11. . . . .

1) l 2

The Maximum value of
x

=

) log 2
2

)0

a

b)0
)1 /

b
c e

)1d

Vikasana - CET 2012



cos4 112 cosx dx A ecx B then+
= +∫12. cos ,

cot tan
) 1 / 2

dx A ecx B then
x x

a A

+
−

= −

∫

) 1 / 8
) 1 / 4

b A
c A

= −
= −) 1 / 4

) 1 / 4
c A
d A

=
=

Vikasana - CET 2012



3 log 4 113. .( 1) .xe x dx−+ =∫
4

13. .( 1) .

)1 / 4 log( 1)

e x dx

a x c

+

+ +
∫

4

4

) log( 1)
) l ( 1)

b x c− + +
4) log( 1)

1)

c x c

d

+ +

4)
1

d c
x

+
+

Vikasana - CET 2012



414 sin 6 cos 2xe x xdx =∫
4 4

14. sin 6 .cos 2

(sin8 2cos8 ) (sin 4 cos 4 ))
40 16

x x

e x xdx

e x x e x xa c

=

− −
+ +

∫

4 4

4 4

40 16
(sin8 2cos8 ) (sin 4 cos 4 ))

40 16

x xe x x e x xb c− −
− +

4 4

4 4

(sin 8 2cos8 ) (sin 4 cos 4 ))
40 16

(sin8 2cos8 ) (sin 4 cos 4 )

x x

x x

e x x e x xc c

e x x e x x

− −
− + +

− −(sin 8 2cos8 ) (sin 4 cos 4 ))
40 16

e x x e x xd c− +

Vikasana - CET 2012



(1 lo g )1 5
xe x x d x+

∫
( g )1 5 .

lo g)
x

d x
x

e x

=∫
lo g)

) (1 lo g )x

e xa c
x

b e x c

+

+ +) (1 lo g )
) lo gx

b e x c
c e x c

+ +

+

) lo gxd x e x c+

Vikasana - CET 2012



1 1 2
1 216. . sin & sin 1 ,If I xdx I x dx then− −= = −∫ ∫

1 2)

)

a I I

b π
=

∫ ∫

2 1)
2

)

b I I

I I

π

π

=

+1 2)
2

)

c I I x

d I I π

+ =

+ =1 2)
2

d I I+ =

Vikasana - CET 2012



1 7 d x∞

=∫ 2 2
0

1 7 .
( 4 ) ( 9 )

)

x x

a π
+ +∫

)
6 0

)

a

b π)
2 0

)
4 0

b

c π)
4 0

)
8 0

d π

Vikasana - CET 2012
8 0



/ 2

1 8 .E v a lu a t e
π / 2

0

s i n
s in c o s

x d x
x x

π

=
+∫

)
4

a π

)
2

)

b

Z

π

)
)1

c Z e r o
d

Vikasana - CET 2012



2 2 2 2 2

19 . . . . . . .
( )

T he A rea o f the reg ion bounded by
i2 2 2 2 2

2

( ). :

) .
2

a y x a x is
aa sq un it

= −

2
2

2) .
3
ab sq un it

2

3
4) .

3
ac sq un it

2

3

) .
4

ad sq un it

Vikasana - CET 2012



20. . . . . . cos( )dyThe Solution of the equation x y
dx

= −

:

) cot

dx
is

x ya y c−⎛ ⎞+ =⎜ ⎟) cot
2

) cot
2

a y c

x yb x c

+ =⎜ ⎟
⎝ ⎠

−⎛ ⎞+ =⎜ ⎟
⎝ ⎠2

) tan
2

x yc y c

⎝ ⎠
−⎛ ⎞+ =⎜ ⎟

⎝ ⎠

) tan
2

x yd x c−⎛ ⎞+ =⎜ ⎟
⎝ ⎠

Vikasana - CET 2012



Vikasana - CET 2012


